P=i 4l

0| &

4X6 « y(—4) (XS « y5 )(—3)
9% DA DY

5 x y(—l) v (x6)2x(_2)(y(_3))(_1)

(72),(5) (x3 )(—1) 2 0,(‘3) )4

1 xy

0 x y(—3) x2(x4)4x(—1)(y(—3))4

8x° x 13D x DY

9D x y(—l)(x6 ><yé)3
g x D (D)D)

639 x DD x DY)
4 Py

4 % DD (YD), (D))

6X9 « y4(x6 ><y6)(—3)
5 x y(—l)(x2)4

5 x J; e (x6)4 LD (y4)4

www.snowmath.com



https://www.snowmath.com

P=i 4l

0| &

4x0 x YD x5
9 x D (D)2
4

9x5y17

5 x y(—l) v (x6)2x(_2)(y(_3))(_1)
15.2
Sx7y

1 x y(—2) es) (x3 )(—1) 2 0,(‘3) )4
1

x10y14

9 x y(_3)X2 (X4)4X(_1)()/(_3))4
9x17

y15

&S x (x(—3) o y(—z))4
8

x/ y3

9x(—1) « y(—l)(x6 xy6)3
8 x "D (x(72))(72)

913 18
g'

6x(_9) X y(_3) (x(_l) X y(_l))(_z)

4 PED)

2x3 y4

FERIGLNCEINCINCNCING

6x9 x y4(x6 > y6)(—3)
5 x y(—l)(x2)4
6

5x17y13

5 x J} 4 (x6)4 D (y4)4
19 18
Sxy

www.snowmath.com

2))4
4

xy9



https://www.snowmath.com

